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| Time: 10 Minutes | Paper Math 8(T-2) |  Total Marks: 10 |

| 2nd Month, 3rd Week, 2nd Day | Exercise: 1.17 Q # (3,4,5) |

Q.1. Choose the correct options. (2x 2 =4) - /';«l‘?lgyl;?uj;
(i) A washerman irons 3 shirts in 15 minutes. How many shirts can be irond
in 45 minutes?
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(a) |9 sirts J}“«9 (b) |8 shirts J}“s (c) |10 shirts uj/‘w @]12 shirtsu’/‘u

(i) The cost of 2 pencils is Rs. 10 and 4 pencils as Rs. 20. What will be the
cost of 6 pencils?
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(2) [Rs.30  &-2/30| (b) [Rs. 20 &-2,20{ (¢) |Rs. 10 &5/10{(d) [Rs.40 5,40

¥ Answer the following questions: ) -J )..,«LQLQUMJ; B 1O%)

Q.2. If 150 shirts can be stiched on sewing machines in a day. how many

machines are required to stitch 225 shirts in a da? Also draw its graph.
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Q.3. If the price of 12 eggs is Rs. 180, how many eggs can be bought with Rs.
270? Also draw its graph.
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Q.4. If 30 labourers dig 800 cm? of earth in 3 hours how many labourers will
be required to dig the same earth in 2 hours? Also draw its graph.
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Q.4. If 30 labourers dig 800 cm? of earth in 3 hours how many labourers will
be required to dig the same earth in 2 hours? Also draw its graph.
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